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The following table shows the details about money invested (principal) in a bank at a certain rate of interest for a given
period of time by six different male persons A-F, alongwith with the amount received (in ). Some values are missing in
the table (indicated as'_') that you are expected to calculate if required. Based on the data in the table, answer the

questions that follow.

Person-wise Details of Money Invested

Person

Rate of Interest

(%)

Time

(In years)

Principal

n3)

Amount Received

%)

6%

18000

6%

30000

29000

43000

m| o | m| =

8%

20000

F

60000

Note: Calculate simple Interest unless spacified.

Sub questions

Question Number : 1 Question Id : 22742719329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the rate of interest received by Aand C is in the ratio of 2:3, then the money invested by C will get doubled in

years.
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Options:

22742775301.1

22742775302. 2

22742775303. 3

22742775304. 4



Question Number : 2 Question Id : 22742719330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the difference between the interest received by E and B is < 4200 and E invested his money for double the time period for
which B invested his money, then the amount received by E is

1.330,000

2,326,600

3.329600

4.335400
Options:
22742775305. 1
22742775306. 2
22742775307. 3

22742775308. 4

Question Number : 3 Question Id : 22742719331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the amount received by C is twice the money invested by him, then the amount he will receive after 2 years if he invests the
same sum of money in compound interest for 2 years compounded half yearly, is

Options:

227427753009. 1
22742775310. 2
22742775311.3
22742775312. 4



Question Number : 4 Question Id : 22742719332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is 20% of the sum invested by him then how much more money as interest he would have eamed if
he had invested the money in compound interest?

1.3700

2.3600

3.3300

4.3400

Options :
22742775313. 1
22742775314. 2
22742775315.3

22742775316. 4

Question Number : 5 Question Id : 22742719333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is < 7,575 mare than the interest received by D and the rate of interest received by F is 2% more
than the rate of interest recieved by A, then the interest rate received by D is

Options :

22742775317. 1
22742775318. 2
22742775319. 3

22742775320. 4



Question Id : 22742719328 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742719329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775301. 1
22742775302. 2
22742775303. 3
22742775304. 4

Question Number : 2 Question Id : 22742719330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.330.000

2.328600

3.329.600

4 335400
Options :
22742775305. 1
22742775306. 2
22742775307. 3

22742775308. 4

Question Number : 3 Question Id : 22742719331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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432199245
Options :
227427753009. 1
22742775310. 2
22742775311.3

22742775312. 4

Question Number : 4 Question Id : 22742719332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.3700

2 3600

3.3300

4 3400

Options :
22742775313. 1
22742775314, 2
22742775315. 3

22742775316. 4

Question Number : 5 Question Id : 22742719333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775317. 1
22742775318. 2
22742775319. 3

22742775320. 4

Sub-Section Number : 2
Sub-Section Id : 227427758
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742719334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which element of cooperative learning talks about 'sink and swim' together?

1. Individual accountability
2. Promotive Interaction

3. Positive interdependence
4 Group processing

Options :

22742775321. 1
22742775322, 2
22742775323. 3

22742775324. 4

Question Number : 6 Question Id : 22742719334 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775321.1
22742775322. 2
22742775323. 3

22742775324. 4

Question Number : 7 Question Id : 22742719335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Canva is an online tool used to prepare creative content in the form of poster, infographics, presentations etc
Statement (II): Edpuzzle is an online tool used for creating interactive videos.

Inlight of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (Il) are correct.

2 Both Statement (1) and Statement (II) are incorrect
3. Statement (1) is correct but Statement (II) is incorrect
4 Statement (1) is incorrect but Statement (II) is correct

Options :

22742775325. 1
22742775326. 2
22742775327.3

22742775328. 4



Question Number : 7 Question Id : 22742719335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775325. 1

22742775326. 2

227427753273

22742775328. 4

Question Number : 8 Question Id : 22742719336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the charactertistics of mental development of Adolescents?
(A). Increased ability to generalise the facts

(B). Development of memory and imagination

(C). Decreased ability to deal with abstraction

(D). Decreased ability to understand

(E). Increased ability to solve problems

Choose the correct answer from the options given below:

1.(C), (D) and (E) only
2. (A), (B) and (E) only.
3. (A), (C)and (D).

4 (C)and (D) only.
Options :
22742775329. 1
22742775330. 2
22742775331.3

22742775332. 4

Question Number : 8 Question Id : 22742719336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775329. 1
22742775330. 2
22742775331.3

22742775332. 4

Question Number : 9 Question Id : 22742719337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which approach the teacher presents a puzzling situation and students solve the problem by gathering data and testing their
conclusions?

1. Discovery leaming
2. Latent leaming

3. Situated leamning
4. Inquiry learning

Options:
22742775333. 1
22742775334. 2

22742775335. 3



22742775336. 4

Question Number : 9 Question Id : 22742719337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742775333. 1
22742775334 2
22742775335. 3

22742775336. 4

Question Number : 10 Question Id : 22742719338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(iven below are two statements:

Statement (1): The long-term memory for information tied to & particular time and place, especially memory of the events in a
person's life Is called as Implicit Memory

Statement (1): The knowledge that we are not concious of recalling but that influences our behaviour or thought without our
awareness is called as Episodic Memory.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) s true but Statement (11) is false.
4. Statement () s false but Statement (If) Is true.



Options :

22742775337. 1
22742775338. 2
22742775339. 3
22742775340. 4

Question Number : 10 Question Id : 22742719338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775337. 1

22742775338. 2

22742775339. 3

22742775340. 4

Question Number : 11 Question Id : 22742719339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (I): In Cross- Sectional research, a researcher studies the same population over time.

Statement (I1): In retrospective study, a researcher relies on people's memories and recollections of the past.
In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement () and Statement (1) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (I1) is true.

Options :

22742775341. 1
22742775342. 2
22742775343.3
22742775344. 4

Question Number : 11 Question Id : 22742719339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775341. 1
22742775342. 2
22742775343.3

22742775344. 4



Question Number : 12 Question Id : 22742719340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In naturalistic observation, the practice of dichotomous recording whether a behaviour occurs or not, constitutes

1. Cluster sampling

2. Time-interval sampling

3. Onelzero sampling

4. Continuous real-time sampling
Options :
22742775345. 1
22742775346. 2
22742775347.3

22742775348. 4

Question Number : 12 Question Id : 22742719340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775345. 1
22742775346. 2
22742775347. 3

22742775348. 4

Question Number : 13 Question Id : 22742719341 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1) According to UGC Regulations 2018 on plagiarism, the authorities of a higher education institute cannot take suo
moto notice of an act of plagiarism.

Statement (II): Plagiarism means the practice of taking someone else’s work or idea and passing them as one's own.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are comect.

2. Both Statement (1) and Statement (II) are incorrect.
3. Statement (1) is correct but Statement (Il) is incorrect.
4 Statement (1) is incorrect but Statement (Il) is correct.

Options:

22742775349. 1
22742775350. 2
22742775351.3

22742775352. 4

Question Number : 13 Question Id : 22742719341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742775349. 1
22742775350. 2
22742775351. 3

22742775352. 4

Question Number : 14 Question Id : 22742719342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a perfect normal distribution, the median would be equal to which of the following measures?
(A). Second quartile

(B). Mean

(C). 50! percentile

(D). Mode

(E). 5™ decile

Choose the correct answer from the options given below

1. (A), (B) and (C) only.

2. (A), (B)and (D) only.
A), (B), (C) and (D).

4 {AL (B), (C) (D) and (E).

Options :

22742775353. 1
22742775354. 2
22742775355. 3

22742775356. 4

Question Number : 14 Question Id : 22742719342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742775353. 1
22742775354, 2
22742775355, 3

22742775356. 4

Question Number : 15 Question Id : 22742719343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For which of the following p-value of a test statistic, a null hypothesis is likely to be rejected?
(A). 0.38 of 2%

(B). 38%

(C). 2%

(D). 0.46

Choose the correct answer from the options given below

1. (A) and (B) only
2. (A)and (C) only
3. (B) and (C) only
4. (B) and (D) only
Options :

22742775357. 1
22742775358. 2
22742775359. 3

22742775360. 4

Question Number : 15 Question Id : 22742719343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742775357. 1
22742775358. 2
227427753509. 3

22742775360. 4

Question Number : 16 Question Id : 22742719344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, the Indian rhetoric, in its Hindu and Buddhist forms, has a/an

1. Materialist basis

2. Ethical basis

3. Euro-centric basis
4 Non-religious basis

Options:

22742775361. 1
22742775362. 2
22742775363.3

22742775364. 4



Question Number : 16 Question Id : 22742719344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742775361. 1
22742775362. 2
22742775363. 3

22742775364. 4

Question Number : 17 Question Id : 22742719345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The paradoxical relationship between body and mind in a communication environment results in

1. Mindfulness

2 Self-importance
3 Obedience

4 Humour

Options :

22742775365. 1
22742775366. 2
22742775367. 3

22742775368. 4

Question Number : 17 Question Id : 22742719345 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775365. 1
22742775366. 2
22742775367. 3
22742775368. 4

Question Number : 18 Question Id : 22742719346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are essential components of dialegic communication, according to Richard Johannesen?
(A). Afacade of pleasant greefing

(B). possessive warmth for others

(C). Empathic understading

(D). Spirit of mutual equality

(E). Positive regard for others

Choose the correct answer from the options given below:

—

A), (B) and (C) only.
B) (C) and (D) only.
C)(D)and (E)

A), (D) and (E) only.

1.
2
3

— —

)
)
)
4 (A)

o,

Options :
22742775369. 1

22742775370. 2



22742775371.3

22742775372. 4

Question Number : 18 Question Id : 22742719346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775369. 1
22742775370. 2
22742775371. 3

22742775372. 4

Question Number : 19 Question Id : 22742719347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The non-verbal communication is studied across which of the follwing disciplines?
{A). Physics

(B). Chemistry

(C). Linguistics

(D). Social psychology

(E). Anthropology

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B) (C)and (D) only.
3. (C), (D), and (E).

4 (A), (B) and (E) only.
Options :
22742775373. 1
22742775374. 2
22742775375. 3

22742775376. 4

Question Number : 19 Question Id : 22742719347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafeiad faugl 5 ¥ fo-16- 8§ TR-2isad YaR &I 8- [l |ar g2
A. HildH IR

B. TUTHARIRA

C. HIuTERHE

D. GHEIS® HIfaTH

E. AH4RIE
-d feu U famedl § § 999 IUgdd Itk &1 94 BIeld:

1. BadA B3R C
2 ®dd B, C AR D
3. ®add C, D3RE
4 HAAA B3ARE

Options :

227427753731
22742775374. 2
22742775375.3
22742775376. 4

Question Number : 20 Question Id : 22742719348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Every communication contains elements of both content and relationships.
Statement (I): Eye behaviour provides metacommunicative cues.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) i1s true but Statement (1) 15 false.
4 Statement (1) is false but Statement (I1) is true.

Options:



22742775377.1
22742775378. 2
22742775379. 3

22742775380. 4

Question Number : 20 Question Id : 22742719348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- Ude YaR H fqugasq 3R &t gHl & dd [dgH9H 8d |

Y |- HEf & TdeR 4 WHIR! Yad Had £

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. PYFI AR NG gd g

2. YT | R || gHf SO &

3. ®YF | G &, Afted SYA 1| 3T ©
4 DY | AUT T, Afh-T HYT | G &
Options :

22742775377. 1

22742775378. 2

22742775379. 3

22742775380. 4

Question Number : 21 Question Id : 22742719349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the correct sequence of five (5) missing letters which will complete the following letter series
daa bc cda a c c

1.a. bacb

2 a,.eb.a¢

3 #6.8.b¢

4 3,¢a,cb

Options:

22742775381. 1
22742775382. 2
22742775383. 3

22742775384. 4

Question Number : 21 Question Id : 22742719349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ui (5) T H&R[ @1 Ug) 5 T & o FHafeifed aul-saet ot 81 <l daa_bc_cda_a ¢ c
1a,b,acb

2 aebac

3 @, 6.8, b,

1 A cach

Options :

22742775381. 1

22742775382. 2

22742775383. 3

22742775384. 4



Question Number : 22 Question Id : 22742719350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If in a scheme. the word 'FATHER' is coded as 104", how the word 'MOTHER' will be coded in the same scheme?

1.104

Options :

22742775385. 1
22742775386. 2
22742775387.3

22742775388. 4

Question Number : 22 Question Id : 22742719350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ft foel T & FATHER' 1104 o &0 H oot oo 71 3, ol 3t 2151 § MOTHER' Tec, 1 8 doefad fodl aIeAT?

1.104

2.83

3.87

4.102

Options :
22742775385. 1
22742775386. 2
22742775387. 3

22742775388. 4

Question Number : 23 Question Id : 22742719351 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Acircle has the diameter same as the length of the side of an equilatral triangle. What is the ratio of their respective areas?

11:
2.92:
3 11;
4 11:

-
[ "l
-
i

= S

[

< i

P

Options :

22742775389. 1
22742775390. 2
22742775391. 3

22742775392. 4

Question Number : 23 Question Id : 22742719351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U6 30 &1 O AR U6 GHYS Bo o} U6 Yo 1 a%T 99H 8| 376 SAbal &1 Ui ol 8112

1.11:7/3
2.22:7/3
a1 et

Slsl

4 11:

Options :

22742775389. 1
22742775390. 2
22742775391. 3

22742775392. 4

Question Number : 24 Question Id : 22742719352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
An article is sold at a gain of 10%. Had it been sold for Rs. 26 more, the profit would have been 15%. The cost price of the
article is

1.Rs 480/-

2 Rs.500/-

3 Rs 510

4 Rs.520/-
Options :
22742775393. 1
22742775394. 2
22742775395. 3

22742775396. 4

Question Number : 24 Question Id : 22742719352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl e @110 %1 R o1 701 391G 38 39 oy 90§ <206 e R el 7 et 15 % M G2 il | %) @1 Pl 90

1.3480

2.3500

3.3510

4.3520

Options :
22742775393. 1
22742775394. 2
22742775395. 3

22742775396. 4

Question Number : 25 Question Id : 22742719353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The difference between the compound interest and simple interest on <10,000/- for 3 years at 10% per annum is

1.310

2.300

3.200

4.430

Options :
22742775397. 1
22742775398. 2
22742775399. 3

22742775400. 4

Question Number : 25 Question Id : 22742719353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

10 % It BI G Y 10000 W 3 9Y] & Tshdfe STd AR YR &S b HH R a1 82

1.3310

2.3300

3.3200

4.3 430
Options :
22742775397. 1
22742775398. 2
22742775399. 3

22742775400. 4

Question Number : 26 Question Id : 22742719354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following group of terms in order of increasing extension.
{A). Mammal

(B). Wildcat

(C). Feline

(D). Animal

(E). Vertebrate

Choose the correct answer from the options given below:

1. (B), (C), (A), (E), (D).
2. (D), (E), (A), (C), (B).
3. (D), (A), (E), (B), (C).
4. (C), (B), (E), (A), (D).
Options :

22742775401.1
22742775402. 2
22742775403. 3

22742775404. 4

Question Number : 26 Question Id : 22742719354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEfeRad ee el &l 953y & ARG 71 H HaRyd SIfT :
A TTOEL

B. gfead

C. fasm

D. T

-id feu U foeedl & © 981 3R &1 99 DIt

1.B,C,AED
2D EACEB
3. DA E B, G
4 C,B,EAD

Options :

22742775401. 1
22742775402. 2
22742775403. 3
22742775404. 4

Question Number : 27 Question Id : 22742719355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"If you like ketchup and you also like icecream, then you would sure like ketchup icecream.” Which fallacy is committed in this
argument?

1. Ad Hominem

2. Hasty Generalisation

3. Slippery Slope

4 Fallacy of composition
Options:
22742775405. 1
22742775406. 2

22742775407. 3



22742775408. 4

Question Number : 27 Question Id : 22742719355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"G, 310 9 TG % 3 AR S0 SHZHHTH Ht GG e 2, o e 0 § i Mgt e il 9 G H o
T 37

1, o 9R19 5 e

2. HaNE FHRIEU
3. g B

4 Welaey
Options :
22742775405. 1
22742775406. 2
22742775407. 3

22742775408. 4

Question Number : 28 Question Id : 22742719356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which formal fallacy is committed in the following argument: "No politicians are idiots. Some voters are not idiots. Therefore,
some voters are not politicians."?

1. Exclusive Premises

2. Existential fallacy

3. Afirming the consequent
4. Denying the antecedent

Options :
227427754009. 1
22742775410. 2

22742775411. 3



22742775412. 4

Question Number : 28 Question Id : 22742719356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 4 B @ 91 SN G &l 2 oricn 98 ] ol 61 3 Farel 9 Te) o 51 39101, 39 Haal Toriioq

a8

1. T AR

) YWD Togy

3 o fH.aE

4. 3qdI Y QY
Options :
227427754009. 1
22742775410. 2
22742775411. 3

22742775412. 4

Question Number : 29 Question Id : 22742719357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Inductive arguments can only be stronger or weaker.

Statement (Il): Deductive arguments are either invalid or valid.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (1) and Statement (I1) are incorrect
3. Statement (1) is correct but Statement (I1) is incorrect
4 Statement (1) is incorrect but Statement (I1) is correct

Options :



22742775413.1
22742775414. 2
22742775415. 3

22742775416. 4

Question Number : 29 Question Id : 22742719357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- AT gfGad! $ad €6 O HHIR &l 9ddl g

Y II: FRTHATES Tfeaal ar dl oy gidl & a1 3¢ gidl €|

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. ®YF | MR I T &

2 Y| AR I GHf T 8

3. PYF | I §, dichd DY 11 3T B
4 DY | AUT T, Afh-T HYT | G &
Options :

22742775413, 1

22742775414. 2

22742775415. 3

22742775416. 4

Question Number : 30 Question Id : 22742719358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the following arguments the reason is counterbalanced by another reason as per classical Indian school of logic
(Nyay)?

(A). All things are non-etemal, because they are knowable.
(B). Fire Is cold because it is a substance.

(C). Sound is eternal because it is produced.

(D). Sound is a quality, because it is visible.

Choose the correct answer from the options given below:

1.(B)and(C
2 (A)and (D)
3.(C)and (D]
4. (B)and (D) only.

only.
only.

)
D)
)
)
Options :

22742775417. 1
22742775418. 2

22742775419. 3

22742775420. 4

Question Number : 30 Question Id : 22742719358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & YR QR <G A & S8R 5 H 9 foo gt 7 89 il 3 5q 3 foigfer 1 o 82
A GHT TG0 IR-T14d € i d 7B

B. +if fiqa gl & T T8 Tard &

C. A A% 3 FMfe 78 Iaifed gt 3l

D. @ 701 8 Fifs a8 X4 3

HTd few e faded T a8 IUYH IR &1 98 DI

1 $3aB AR C
2 BATAIRD
3 %aa C AR D
4 $aaB ARD

Options :

227427754171
22742775418. 2
22742775419.3

22742775420. 4

Question Number : 31 Question Id : 22742719359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): MyGov. is a platform through which Government of India aims to encourage citizen participation towards good
govemance by seeking their ideas and suggestions.

Statement (1): MyGov platform is developed by three of the former Flipkart executives to provide a cashless and seamless
payment experience.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) 1s true but Statement (I1) is false.
4 Statement (1) 1s false but Statement (1) is true.

Options:



22742775421.1
22742775422. 2
22742775423. 3

22742775424. 4

Question Number : 31 Question Id : 22742719359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y |- TR (MyGov) T U1 Hd 2 fords W1eg ¥ 4R SR e ! & QI o el 347y iR iR i ot o 3
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Options :
227427754211
22742775422 2
22742775423. 3

22742775424. 4

Question Number : 32 Question Id : 22742719360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (1): Dropbox is an example of e-mail service on the Internet.

Statement (I1): Google Docs is an online word processor.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742775425. 1
22742775426. 2
22742775427.3
22742775428. 4

Question Number : 32 Question Id : 22742719360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HY |- SIYEIH Se3-e I 5-0¢ Udl &1 U 3aedU gl
HY |I- 7T S TP SIS 98 U 3|
IWRIcd HYH & el H, Hiid 6T U fadbed! & U UeT IR &1 994 Bifoig

1 Y 3RIGHI 9d g

2 ®YF | AN I GHf AET B

3 @Y | 94 8, dichd By || 38T &
4 Y| MO g, dibd Y 11 T 8

Options:

22742775425. 1
22742775426. 2
22742775427.3

22742775428. 4



Question Number : 33 Question Id : 22742719361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Dynamic RAM (DRAM) is the most common type of RAM used in computers, but where absolute speed is
essential, Static RAM (SRAM) is the preferred technology.

Statement (1): The Processor's Memory Cache is the high speed portion of the memary and SRAM s the effective technology
for the same.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (1) is true.

Options:

22742775429. 1
22742775430. 2
22742775431.3

22742775432. 4

Question Number : 33 Question Id : 22742719361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775429. 1
22742775430. 2
22742775431. 3

22742775432. 4

Question Number : 34 Question Id : 22742719362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements A-D about Internet Cookies is/are true?
{A). They are form of spyware.

(B). They are used only in advertising

(C). They are used to track browser use.

(D). They act in the same way as a virus.

Choose the correct answer from the options given below

1. (A) only.

2. (A) and (B) only
3. (C) only

4 (C)and (D) only.
Options :
22742775433. 1
22742775434, 2
22742775435. 3

22742775436. 4

Question Number : 34 Question Id : 22742719362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775433, 1
22742775434. 2
22742775435. 3
22742775436. 4

Question Number : 35 Question Id : 22742719363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct with reference to Organic Light-Emitting Diodes (OLEDs)?

(A). Because of plastic organic layers, OLEDs are much thicker and heavier than conventional LCD/LED formats.
(B). OLEDs give a brighter light than LEDs leading to more vivid colours.

(C). OLEDs produce a much larger field of view than LCD/LED formats.

(D). OLEDs require some form of back-lighting so that the screen can be lit up.

(E). OLEDs consume more power than LCD/LED formats and thus produce more heat.

Choose the correct answer from the options given below:

Options :

22742775437. 1
22742775438. 2
22742775439. 3
22742775440. 4

Question Number : 35 Question Id : 22742719363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775437. 1
22742775438. 2
22742775439. 3
22742775440. 4

Question Number : 36 Question Id : 22742719364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Concept of salt gradient is utilized to store the heat energy in which of the following solar energy collecting systems?

1. Solar thermal collectors
2. Solar cells

3. Solar ponds

4 Solar kilns

Options:
227427754411
22742775442, 2

22742775443. 3



22742775444, 4

Question Number : 36 Question Id : 22742719364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fet W) et TG0 Ol fo o] H 3 G5l b Y/ GRU b foTU <l ol 1 Wbt ol T ] i 62

1 9% a0 950
2 IR
3 ORam
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Options :

22742775441. 1
22742775442, 2
22742775443, 3

22742775444. 4

Question Number : 37 Question Id : 22742719365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Full form of PAN, a type of air pollutant, is

1. Polycyclic Aromatic Nitrate
2. Polycyclic Acetyl Nitrate

3. Peroxy Aromatic Nitrate

4 Peroxy Acetyl Nitrate

Options :

22742775445. 1
22742775446. 2
22742775447. 3

22742775448. 4



Question Number : 37 Question Id : 22742719365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
9 UgN®| & UP UBR , PAN BT U A1 FE H ¥ &F 91 8?2

1. Uil gsidas WHk® 5de
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Options :

22742775445. 1
22742775446. 2
22742775447.3

22742775448. 4

Question Number : 38 Question Id : 22742719366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I). Two categories of Ozone Depleting Substances (ODS) were class | and class |
Statement (I1): Production of class |l ODS ceased in 2000.

In light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement (1) and Statement (1I) are correct.

. Both Statement (I) and Statement (11) are incorrect

- Statement (1) is correct but Statement (11} is incorrect
- Statement (1) is incorrect but Statement (11) is correct

L O —

o

Options :

22742775449. 1
22742775450. 2
22742775451, 3

22742775452. 4



Question Number : 38 Question Id : 22742719366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HYF |- 3 AR uard (0DS) Bt of 4fomi &+t | g & 11 |

YT |1 I 1| ODS BT IAIGH 2000 H & 5 741 YT

SWRIdd HYH & HHeid H, Aid feu U fadwedl § ¥ 98! IR &1 98- Hifee

1. DY AR S IO §

2. BYF | 3R | G 3T B

3. ®YT 1 90 &, dfpd DY 1l 39T ©
4 HYF | I e, AfPT PYT I II B
Options:

22742775449 1

22742775450. 2

22742775451. 3

22742775452. 4

Question Number : 39 Question Id : 22742719367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one Is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Formaldehyde, widely used in plastics, wood products, insulating materials, glue and fabrics, is a serious
allergen.

Reason (R) : Allergens are substances that activate the immune system
In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the comect explanation of (A).
3. (A) s correct but (R) is not correct.

4 (A)is not correct but (R) Is correct.



Options :

22742775453. 1
22742775454, 2
22742775455, 3

22742775456. 4

Question Number : 39 Question Id : 22742719367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775453. 1

22742775454 2

22742775455, 3

22742775456. 4

Question Number : 40 Question Id : 22742719368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



During which one of the following the Convention on Biodiversity was opened for signature?

1. Rio Summit

2. Stockholm conference
3. Ramsar convention

4. Montreal Protocol

Options :

22742775457. 1
22742775458. 2
22742775459. 3

22742775460. 4

Question Number : 40 Question Id : 22742719368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775457. 1
22742775458. 2
22742775459. 3

22742775460. 4

Question Number : 41 Question Id : 22742719369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Hindu college of Calcutta was later renamed as

_ Surendranath college

- Ram Mohan Roy college
University/College

. Presidency college

[

o

Options :

22742775461. 1
22742775462. 2
22742775463. 3

22742775464. 4

Question Number : 41 Question Id : 22742719369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775461. 1
22742775462. 2
22742775463. 3
22742775464. 4

Question Number : 42 Question Id : 22742719370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Dr. B. R. Ambedkar was associated with

{A). Elphinstone college, Mumbai

(B). Khalsa college, Mumbai

(C). Milind college, Aurangabad

(D). Siddharth college, Mumbai

(E). Fergusson college, Pune

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2.(B), (C)and (D) only
3. (C), (D) and (E) only
4. (A), (D) and (E) only.
Options :
22742775465. 1
22742775466. 2
22742775467. 3

22742775468. 4

Question Number : 42 Question Id : 22742719370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775465. 1
22742775466. 2
22742775467. 3
22742775468. 4

Question Number : 43 Question Id : 22742719371 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): The National Policy on Education (1986) intended to encourage inter-disciplinary research in social science.
Statement (1) According to the National Policy on Education (1986) the idea of rural universities was untenable.

In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (11} Is false.
4 Statement (1) is false but Statement (II) is true.

Options:

No



22742775469. 1
22742775470. 2
22742775471. 3

22742775472. 4

Question Number : 43 Question Id : 22742719371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775469. 1
22742775470. 2
22742775471. 3

22742775472. 4

Question Number : 44 Question Id : 22742719372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following fundamental principles of education are highlighted under New National Education Policy (2020)?
(A). Higher education as a fundamental right.

(B). Multi-disciplinarity and holistic education.

(C). Outstanding research as part of higher education.

(D). Promotion of multilingualism in teaching and learning.

(E). Setting up of another knowledge commission.

Choose the correct answer from the options given below:

(A), (B) and (C) only.
(B), (C) and (D) only
©) (

(D)and (

)
C), (D) and (E) only

),
),
),
(A), (D) and (E) only.

1
2
3
4
Options :

22742775473. 1
22742775474. 2
22742775475. 3

22742775476. 4

Question Number : 44 Question Id : 22742719372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T T e A, 2020 B Hfeid FofiE H @ e & &7 Afte Riial & veifed foar mrg?
A Hifts AR & T H Iwa e

B. 9g-fauflidar 3R T fRien
C. R8T & YT & TUH PP STHYH
D. fRi&r 3R 3 o SgUIETG & HicTed

E. 3] J MG & RIGT

1 fau U fomea! & © T99 SUTE S @1 99 i

1 $aqA BARC
2 $adB CARD
3. %ad C,D HRE
4 HadA DARE

Options :

227427754731
22742775474. 2
22742775475. 3
22742775476. 4

Question Number : 45 Question Id : 22742719373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Environmental education is needed for:

{A). Conservation of natual resources.

(B). Knowledge of causes of pollution.

(C). Knowledge of measures to prevent pollution.

(D). Extensive extraction of natural resources.

(E). Economising on scientific invention.

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B), (C) and (D) only
3. (C), (D) and (E).

4. (A), (D) and (E) only.
Options :
22742775477.1
22742775478. 2
22742775479. 3

22742775480. 4

Question Number : 45 Question Id : 22742719373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 HAdA D3IRE
Options :
227427754771
22742775478. 2
22742775479. 3

22742775480. 4

Sub-Section Number : 3
Sub-Section Id : 227427759
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742719374 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage carefully and answer the questions given below:

Saving energy means saving money. Homeowners and renters know this basic fact, but they often don't know what kinds of
adjustments they can make in their homes and apartments that will result in savings.

For those willing to spend some time and money to reap long-term energy savings, an energy audit is the way to go. An energy
auditor will come into your home and assess its energy efficiency. The auditor will pinpoint areas of your home that use the most
energy and offer solutions to lower your energy use and costs. Trained energy auditors know what to look for and can locate &
variety of flaws that may be resulting in energy inefficiency, including inadequate insultion, construction flaws, and uneven heat
distribution.

There are quicker and less costly measures that can be taken as well. One way to save money is o replace incandescent lights
with fluorescents. This can result in a savings of more than 50% on your monthly lighting costs. When it's time to replace old
appliances, if's wise to spend & bit more for an energy-efiicient model, and be sure that you are taking advantage of energy-
saving settings already on your current refrigerator, dishwasher, washing machine, or dryer.

Windows provide another opportunity to cut your energy costs. Caulk old windows that might be leaky to prevent drafts, and
choose double-paned windows if you're building an addition or replacing old windows.

Most areas of your home or apartment offer opportunifies o save energy and money. The results are significant and are well
worth the effort.

Sub questions

Question Number : 46 Question Id : 22742719375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The passage indicates that old appliances

1. Consume more energy.
2. Consume less energy.
3. Work well.

4 Have long life.

Options :

22742775481. 1
22742775482. 2
22742775483. 3

22742775484. 4



Question Number : 47 Question Id : 22742719376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

With reference to the fourth paragraph of the passage, the meaning of the word 'Caulk’ is

_to shut

- to make more attractive

_to fill the holes

4 to find the cause of a problem

[ O

Options:

22742775485. 1
22742775486. 2
22742775487. 3
22742775488. 4

Question Number : 48 Question Id : 22742719377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, double-paned windows

1. should never be used as replacement windows or in new additions to homes
2. can't be repaired

3. will lower your heating costs by 50%

4 are energy efficient

Options:

22742775489. 1

22742775490. 2

22742775491. 3

22742775492. 4

Question Number : 49 Question Id : 22742719378 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, which of the following would an energy auditor do?
(A). Locate a variety of flaws that may result in energy inefficiency and fix them.
(B). Check for construction flaws

(C). Look for problems with heat distribution

(D). Offer solutions to lower your energy costs

Choose the correct answer from the options given below:

1. Aonly.

2. B and C only.

3. C and D only.
4 B, CandD only

Options :

22742775493. 1
22742775494, 2
22742775495. 3

22742775496. 4

Question Number : 50 Question Id : 22742719379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following ideas is not included in the passage?

1. You can reduce your monthly lighting costs by more than 50% by using fluorescent bulbs instead of incandescent.
2. Double-paned windows can cut energy costs.

3. Energy audit for every home and apartment should be mandatory in India.

4 Some appliances have energy-saving settings.

Options:

22742775497. 1

22742775498. 2



22742775499. 3
22742775500. 4

Question Id : 22742719374 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742719375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e FERid 31 § i WH 3ua

1. 3ATED Foll BT WUd B &
2 PH G P @UT B &
3 et Wi o &3 &

4 9 OHT TP Jad €

Options :

22742775481. 1
22742775482. 2
22742775483. 3
22742775484. 4

Question Number : 47 Question Id : 22742719376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775485. 1
22742775486. 2
22742775487. 3

22742775488. 4

Question Number : 48 Question Id : 22742719377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775489. 1
22742775490. 2
22742775491.3

22742775492. 4

Question Number : 49 Question Id : 22742719378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T & HER Heil adl-UHiE® FE H 9 - s

A. 3 UY SIUl &1 Tdl T foi-dy HIRUT Sall & Bldl of 3R 36 old G|
B. fHT0T GINT &1 Siid &Y

C. I faavor et Traredi &1 gem

D. 3MUBT Foll AFTd B HH B & GHIY Tgd DT
I fau T ot ¥ U 9ad Iugad 3R &1 T4 DI ;

1. Bad A

2 HIAB AR C
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Options :

22742775493, 1
22742775494. 2
22742775495. 3

22742775496. 4



Question Number : 50 Question Id : 22742719379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775497. 1
22742775498. 2
22742775499. 3

22742775500. 4
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Section Id : 227427256
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Section type : Online
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Number of Questions : 92
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Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 227427760
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 51 Question Id : 22742719380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which of the following works Marx wrote about "The comomodity form"?

1. Das Kapital

2. The German |deology

3. The Poverty of Philosophy

4 The Class Struggle in France

Options:

22742775501. 1
22742775502. 2
22742775503. 3

22742775504. 4

Question Number : 51 Question Id : 22742719380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775501. 1
22742775502. 2
22742775503. 3

22742775504. 4



Question Number : 52 Question Id : 22742719381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Every society is divided into groupings and strata with distinetive life styles’ who said this?

1. Karl Marx

2. Emile Durkheim
3. Max Weber

4 Thorstein Veblen
Options :
22742775505. 1
22742775506. 2
22742775507. 3

22742775508. 4

Question Number : 52 Question Id : 22742719381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742775505. 1
22742775506. 2
22742775507. 3

22742775508. 4

Question Number : 53 Question Id : 22742719382 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which book of Durkheim is devoted to a close and careful analysis of primitive religion?

- Moral Education

. The Elementary Forms of Religious Life
- Suicide

. The Division of Labour in Society

[ N T

=

Options :

227427755009. 1
22742775510. 2
22742775511.3

22742775512. 4

Question Number : 53 Question Id : 22742719382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775500. 1
22742775510. 2
22742775511. 3

22742775512. 4

Question Number : 54 Question Id : 22742719383 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Who among the following sociologists wrote the book "The Rules of Sociological Method'?

1. Marx Weber

2. Emile Durkheim
3. Karl Marx

4. August Comte
Options :
22742775513. 1
22742775514, 2
22742775515. 3

22742775516. 4

Question Number : 54 Question Id : 22742719383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775513. 1

227427755142

22742775515. 3

22742775516. 4

Question Number : 55 Question Id : 22742719384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

In which year, Michael Foucault wrote his famous book,'The History of Sexuality'?

1.1984

2.1993

31976

4 1980
Options :
22742775517. 1
22742775518. 2
22742775519. 3

22742775520. 4

Question Number : 55 Question Id : 22742719384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 1984

2.1993

3. 1976

4.1980
Options :
22742775517. 1
22742775518. 2
22742775519. 3

22742775520. 4

Question Number : 56 Question Id : 22742719385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“Just as modernization dissolved the structure of feudal society, modemization today is dissolving industrial society and another
modernity is coming into being"Who has given this statement?

1. Zygmunt Bauman
2. Anthony Giddens
3. Ulrich Beck

4. Jean Baudrillard

Options :

22742775521. 1
22742775522. 2
22742775523. 3

22742775524. 4

Question Number : 56 Question Id : 22742719385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
227427755211
22742775522, 2
22742775523.3

22742775524. 4

Question Number : 57 Question Id : 22742719386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The concept of Timeless Time” was given by-

. Scott Lash and John Urry
- David Held

- Manuel Castells

- Ulrich Beck

[ s

o

Options :

22742775525. 1
22742775526. 2
22742775527. 3

22742775528. 4

Question Number : 57 Question Id : 22742719386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775525. 1
22742775526. 2
22742775527. 3

22742775528. 4

Question Number : 58 Question Id : 22742719387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who has give the concept of "Time-Space - Distanction” in context of the globalization and modemnity?

1. Jurgen Habermas
2. Pierre Bourdieu
3. Edward Said

4. Anthony Giddens
Options :
22742775529. 1
22742775530. 2
22742775531. 3

22742775532. 4

Question Number : 58 Question Id : 22742719387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742775529. 1
22742775530. 2
22742775531. 3

22742775532. 4

Question Number : 59 Question Id : 22742719388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Functional Approach in sociology appeared as a reaction against-

1. Methods of social anthropology
2. Evolutionist Method

3. Economics Method

4 Interactionist Method

Options :

22742775533. 1
22742775534. 2
22742775535. 3

22742775536. 4

Question Number : 59 Question Id : 22742719388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775533. 1
22742775534. 2
22742775535. 3
22742775536. 4

Question Number : 60 Question Id : 22742719389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following studies is the best example of comparative method?

- Mind, Self and Society (G.H. Mead)

. |ldeology and Utopia (Karl Mannheim)

_ Suicide (Emile Durkheim)

. The Communist Manifesto (Karl Marx and F. Engels)

[

o

Options :

22742775537. 1
22742775538. 2
22742775539. 3

22742775540. 4

Question Number : 60 Question Id : 22742719389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775537. 1
22742775538. 2
22742775539. 3

22742775540. 4

Question Number : 61 Question Id : 22742719390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Cne of the main characteristic of theories in Modern Science is-

1. Atheory is considered as a final explanation

2. Atheory is always held with some tentativeness
3. Atheory is just a hypothesis

4. Atheory is a description of facts

Options :

22742775541. 1

22742775542. 2

22742775543. 3

22742775544. 4

Question Number : 61 Question Id : 22742719390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775541. 1
22742775542, 2
22742775543.3

22742775544, 4

Question Number : 62 Question Id : 22742719391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which one is not the feature of Qualitative Methods?

1. Open-ended Questions

2. Text and Image analysis

3. Themes and Pattern interpretation
4 Census data

Options :

22742775545. 1

22742775546. 2

22742775547. 3

22742775548. 4

Question Number : 62 Question Id : 22742719391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775545. 1
22742775546. 2
22742775547.3

22742775548. 4

Question Number : 63 Question Id : 22742719392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which is not a study design?

1. Cross-5ectional
2. Interview

3. Cross cultural
4. Longitudinal

Options :

22742775549. 1
22742775550. 2
22742775551. 3

22742775552. 4

Question Number : 63 Question Id : 22742719392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775549. 1
22742775550. 2
22742775551.3
22742775552. 4

Question Number : 64 Question Id : 22742719393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which cannot be considered as Qualitative audio-visual digital method?

- Film

- Newspaper

. Photographs

- Computer Messages

[ s

o

Options :

22742775553. 1
22742775554. 2
22742775555. 3

22742775556. 4

Question Number : 64 Question Id : 22742719393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-
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1. dafad

2. AddR

3. SMIA
Options:
22742775553, 1
22742775554, 2
22742775555, 3

22742775556. 4

Question Number : 65 Question Id : 22742719394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who is associated with the Naturism?

1. Max Muller

2. EB. Tylor

3 R.R Marett

4 B. Malinowski
Options :
22742775557. 1
22742775558. 2
22742775559. 3

22742775560. 4

Question Number : 65 Question Id : 22742719394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot g YA Telaac 1 des &
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2 34 ¢
Options:
22742775557. 1
22742775558. 2
22742775559. 3

22742775560. 4

Question Number : 66 Question Id : 22742719395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who said this ‘we now live in the time of the tribe’?

1. R. Reader
2. G. Davie

3. M. Maffesoli
4 C. Barone

Options :

22742775561. 1
22742775562. 2
22742775563. 3

22742775564. 4

Question Number : 66 Question Id : 22742719395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. AR {3
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Options:
22742775561. 1
22742775562. 2
22742775563. 3

22742775564. 4

Question Number : 67 Question Id : 22742719396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is associated with transvestite woman?

1. Awoman who regularly dresses as a man
2. A man who regularly dresses as a woman
3. Aman who becomes a woman

4 A woman who becomes a man

Options :

22742775565. 1

22742775566. 2

22742775567. 3

22742775568. 4

Question Number : 67 Question Id : 22742719396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Frafafed 4 9 - &l aur afea § 96fia @
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Options:

22742775565. 1
22742775566. 2
22742775567.3

22742775568. 4

Question Number : 68 Question Id : 22742719397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following used the concept of glocalization?

1. R. Robertson
2 1. Wallerstein
3 M. Waters

4 L. Martell
Options :
22742775569. 1
22742775570. 2
22742775571. 3

22742775572. 4

Question Number : 68 Question Id : 22742719397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742775569. 1
22742775570. 2
22742775571. 3

22742775572. 4

Question Number : 69 Question Id : 22742719398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who is the author of the book, The Rise of the Network Society'?

1. M. Crossley

2. A Mayerand 5.L. Puller
3. Georg Simmel

4 M. Castells

Options :

22742775573. 1
22742775574. 2
22742775575. 3

22742775576. 4

Question Number : 69 Question Id : 22742719398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775573.1
22742775574. 2
22742775575. 3

22742775576. 4

Question Number : 70 Question Id : 22742719399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who has studied "Lucknow Rickshawallas” in 19657

1. Harbert Risley

2. Edward Shils

3. Harold A. Gould

4. Joseph Schumpeter
Options :
22742775577. 1
22742775578. 2
22742775579. 3

22742775580. 4

Question Number : 70 Question Id : 22742719399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775577. 1
22742775578. 2
22742775579.3

22742775580. 4

Question Number : 71 Question Id : 22742719400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A concept used by Manuel Castells to refer to processes of consumption of common goods promoted by the city, such as
fransport services and leisure amenities is called

1. Control Consumption

2. Collective Consumption

3. Civil Gonsumption

4. Comparative Consumption
Options :
22742775581. 1
22742775582. 2
22742775583. 3

22742775584. 4

Question Number : 71 Question Id : 22742719400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:
22742775581. 1
22742775582. 2
22742775583. 3

22742775584. 4

Question Number : 72 Question Id : 22742719401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following uses the phrase “anti-politics machine™?

1. Robert Chambers
2. James Ferguson
3. Keith Hart

4 Thomas B. Hansen

Options :

22742775585. 1
22742775586. 2
22742775587. 3
22742775588. 4

Question Number : 72 Question Id : 22742719401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742775585. 1
22742775586. 2
22742775587. 3

22742775588. 4

Question Number : 73 Question Id : 22742719402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which census introduced the category of person with ‘physical infirmities’ the blind, the deaf and the dumb?

1. 1861
2.1931
3. 1951

4 1961

Options :
22742775589. 1
22742775590. 2
22742775591. 3
22742775592. 4

Question Number : 73 Question Id : 22742719402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 1881
2. 1931
3. 1951

4 1961
Options:
22742775589. 1
22742775590. 2
22742775591.3

22742775592. 4

Question Number : 74 Question Id : 22742719403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following societies is 'Mass Society'?

_Industrial Society
. Tribal Society

- Peasant Society
- Feudal Society

[ s
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Options :

22742775593. 1
22742775594. 2
22742775595. 3

22742775596. 4

Question Number : 74 Question Id : 22742719403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775593. 1
22742775594, 2
22742775595. 3
22742775596. 4

Question Number : 75 Question Id : 22742719404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘There are four important bases of socio-cultural identity in India: religion, caste, tribe and language'Who said ?

1. Yogendra Singh
2. TN. Madan

3. TK. Qommen
4 Andre Beteille

Options :

22742775597. 1
22742775598. 2
22742775599. 3

22742775600. 4

Question Number : 75 Question Id : 22742719404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742775597. 1
22742775598. 2
22742775599. 3

22742775600. 4

Question Number : 76 Question Id : 22742719405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following classify mixed types of culture into parochial, subject and participant?

1. L. |. Rudolph and 5.H. Rudolph
2. M.R. Daviand VA. Lewis

3. Robert E. Ward

4 GA Almondand S. Verba
Options :

22742775601. 1
22742775602. 2
22742775603. 3

22742775604. 4

Question Number : 76 Question Id : 22742719405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775601. 1

22742775602. 2

22742775603. 3

22742775604. 4

Question Number : 77 Question Id : 22742719406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who said traditional India did not have a developed socio-cultural foundation for the growth of rational legal authority and
bureaucratic socil structures?

1. Daniel Lerner

2 Max Weber

3. FW. Riggs

4 Herold D. Lasswell
Options :
22742775605. 1
22742775606. 2
22742775607. 3

22742775608. 4

Question Number : 77 Question Id : 22742719406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742775605. 1
22742775606. 2
22742775607. 3

22742775608. 4

Question Number : 78 Question Id : 22742719407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is not the principles of ‘deep ecology?

1. The Wellbeing and flourishing of human and non-human life on earth have value in themselves

2. The flourishing of human life and culture is compatible with a subsantial decrease of human population
3. Human have no right to reduce the richness and diversity of nature to satisfy their vital needs

4. Present human interference with non-human world is excessive and the situation is rapidly worsening

Options :

227427756009. 1
22742775610. 2
22742775611. 3

22742775612. 4

Question Number : 78 Question Id : 22742719407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

227427756009. 1
22742775610. 2
22742775611.3
22742775612. 4

Question Number : 79 Question Id : 22742719408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following used the ‘alliance approach’ to understand the patterns of kinship?

1. Louis Dumont
2. TN. Madan

3. K. Gough

4 Qscar Lewis
Options :
22742775613. 1
22742775614, 2
22742775615. 3

22742775616. 4

Question Number : 79 Question Id : 22742719408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775613. 1
22742775614. 2
22742775615.3

22742775616. 4

Question Number : 80 Question Id : 22742719409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following is associated with the study of family in Mahuva, a town in Saurashtra?

1. 1.P. Desai

2. AM. Shah

3. Iravati Karve

4 Mandelbaum
Options :
22742775617. 1
22742775618. 2
22742775619. 3

22742775620. 4

Question Number : 80 Question Id : 22742719409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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2 UTH Mg
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Options:

22742775617. 1
22742775618. 2
22742775619.3
22742775620. 4

Question Number : 81 Question Id : 22742719410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following is the author of the essay “why marriage matters™?

1. Jesse Ellison

2. Caitlin Flanagan
3. John Gottman
4 Robinson
Options :
22742775621. 1
22742775622, 2
22742775623. 3

22742775624. 4

Question Number : 81 Question Id : 22742719410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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2. efe T
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Options:
22742775621. 1
22742775622. 2
22742775623. 3

22742775624. 4

Question Number : 82 Question Id : 22742719411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following have drawn attention to the ‘dark side’ of the family life?

. Liberals

. Functionalists
. Structuralists
- Feminists

[ L

N =9

Options :

22742775625. 1
22742775626. 2
22742775627. 3
22742775628. 4

Question Number : 82 Question Id : 22742719411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775625. 1
22742775626. 2
22742775627.3

22742775628. 4

Question Number : 83 Question Id : 22742719412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following said that family was the outcome of male possessiveness and jealousy, and a growth in property and
of the sense of property?

1. Lewis Morgan

2 Westermarck

3 R Lowie

4 PN Prabhu
Options :
22742775629. 1
22742775630. 2
22742775631.3

22742775632. 4

Question Number : 83 Question Id : 22742719412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. TG A

2. dRHD

3. AR TI4T

4 QT TY
Options:
22742775629. 1
22742775630. 2
22742775631. 3

22742775632. 4

Question Number : 84 Question Id : 22742719413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following coined the term ‘intersectionality’?

1. Barbara Smith

2. Combahee River

3. Kimberle Crenshaw
4 Patricia Hill Collins
Options :
22742775633. 1
22742775634, 2
22742775635. 3

22742775636. 4

Question Number : 84 Question Id : 22742719413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SR YA Weg B Yo [Hgfciigd H § fbe foar ur?
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4 TSIRAT fed Sifer

Options:

22742775633. 1
22742775634. 2
22742775635. 3

22742775636. 4

Question Number : 85 Question Id : 22742719414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Aworker who possesses a diversity of skills or qualifications and is iherefore able to move easily from job to job is called

1. Industrial worker

2. Portfolio worker

3. Participatory worker

4. Organizational worker
Options :
22742775637. 1
22742775638. 2
22742775639. 3

22742775640. 4

Question Number : 85 Question Id : 22742719414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 Je 4w

2. QIEwilerdl it

3. TiaHTl 4

4 T 4@
Options:
22742775637. 1
22742775638. 2
22742775639. 3

22742775640. 4

Question Number : 86 Question Id : 22742719415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The institution of education as a system of formal bureaucratic structure designed not to

1. Socialize

2. Store knowledge

3. Generate new system of culture
. Stratify

I

Options :

22742775641. 1
22742775642. 2
22742775643. 3
22742775644. 4

Question Number : 86 Question Id : 22742719415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. TSI

2. JH &1 4=y

4. &R & faU
Options:
22742775641. 1
22742775642. 2
22742775643. 3

22742775644. 4

Question Number : 87 Question Id : 22742719416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who coined the term ‘credential society’ for societies where people view diplomas and degrees as evidence of ability to perform
specialized occupational roles?

1. Anthony Giddens

2 Randall Collins

3. Ivan Illich

4 P Bourdieu
Options :
22742775645. 1
22742775646. 2
22742775647. 3

22742775648. 4

Question Number : 87 Question Id : 22742719416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742775645, 1
22742775646. 2
22742775647. 3

22742775648. 4

Question Number : 88 Question Id : 22742719417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is not one of the three main categories of the New Religious movement?

1. World affirming

2. World rejecting

3. World conflicting

4. World accommodating
Options :
22742775649. 1
22742775650. 2
22742775651. 3

22742775652. 4

Question Number : 88 Question Id : 22742719417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775649. 1
22742775650. 2
22742775651. 3
22742775652. 4

Question Number : 89 Question Id : 22742719418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Totemism is a belief in:

1. An image vested with a spirit and mind
2. A deity vested with power and spirit

3. A spirit vested with power and piety

4. An object vested with spirit and power
Options :

22742775653. 1

22742775654, 2

22742775655. 3

22742775656. 4

Question Number : 89 Question Id : 22742719418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. {1 AR 99 4 FAfed [

2. e 311 3 9 (Afgd ¢ad
3. TMfad SR =nfad T Ffed smen
4. 3T AR e 9 [fgd 9]

Options:

22742775653. 1
22742775654, 2
22742775655. 3
22742775656. 4

Question Number : 90 Question Id : 22742719419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following has used the term’unstable family' for the first time?

1. C.H.Cooley

2. Le Play

3. Georg Simmel
F

4 F Engles

Options :

22742775657. 1
22742775658. 2
22742775659. 3

22742775660. 4

Question Number : 90 Question Id : 22742719419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4. T, UfeTey
Options:
22742775657. 1
22742775658. 2
22742775659. 3

22742775660. 4

Question Number : 91 Question Id : 22742719420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Who among the following sociologists belong to Frankfurt School of critical theory?
A. Anthony Giddens

B. Herbert Marcuse

C. M. Horkheimer

D. Eric Fromm

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3. A, CandD only
4 A BandD only

Options :

22742775661. 1
22742775662. 2
22742775663. 3
22742775664. 4

Question Number : 91 Question Id : 22742719420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B. gec AR
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1. $dd B A3RC
2 ®adB. C 3R D
3. WadA C3RD
4 HAdA B3RD
Options :
22742775661. 1
22742775662. 2
22742775663. 3

22742775664. 4

Question Number : 92 Question Id : 22742719421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to B. Malinowski, which among the following are true about culture.

A Culture is an instrument which enables man to secure his bio-psychic survival
B_Culture is a super organic reality

C. Culture helps mental and intellectual survival of man

D. Each aspect of a culture is rooted in the needs of the human being

Choose the most appropriate answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A CandD only
4 Aand B only

Options :

22742775665. 1
22742775666. 2
22742775667. 3
22742775668. 4

Question Number : 92 Question Id : 22742719421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 HIAAINB

Options :

22742775665. 1
22742775666. 2
22742775667. 3
22742775668. 4

Question Number : 93 Question Id : 22742719422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are true according to Karl Mannheim about sociology of knowledge?

A. All knowledge and all ideas are bound to a location

B. It refers to a theory of the social or existential conditioning of thought.

C. Ideas are rooted in different locations in historical time and social structure.

D. At times a particular group can have full access to the understanding of a social phenomenon than other groups.
E. No group have total access to understanding of a social phenomenon.

Choose the correct answer from the options given below:

1.8, C, D and E only
2.A B CandD only
3. A BandConly
4 ABCDandE

Options :

22742775669. 1
22742775670. 2
22742775671.3

22742775672. 4

Question Number : 93 Question Id : 22742719422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 $aA B,C,DIRE

Options :

22742775669. 1
22742775670. 2
22742775671.3

22742775672. 4

Question Number : 94 Question Id : 22742719423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The characteristics of Usable Hypotheses are-

A. The hypothesis must be conceptually clear

B. The hypotheses should have empirical referents.

C. The hypotheses should not be specific.

D. The hypotheses should be related to a body of theory.
Choose the correct answer from the options given below:

1. A, B and C only
2. A CandD only
3. A BandD only
4 B, CandD only

Options :

22742775673. 1
22742775674. 2
22742775675. 3
22742775676. 4

Question Number : 94 Question Id : 22742719423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775673. 1
22742775674. 2
22742775675. 3

22742775676. 4

Question Number : 95 Question Id : 22742719424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Graphic Presentation of frequency distribution is done by using:
A Histograms Technique

B. Frequency Polygons

C. Percentile

D. Smoothed Frequency Curves

Choose the correct answer from the option given below:

1. A, B and C only
2.B, Cand D only
3. A BandD only
4 A CandD only

Options :

22742775677. 1
22742775678. 2
22742775679. 3

22742775680. 4

Question Number : 95 Question Id : 22742719424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. ®ad A B3RD
4 HAdA C3HRD
Options :
22742775677. 1
22742775678. 2
22742775679. 3

22742775680. 4

Question Number : 96 Question Id : 22742719425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A satisfactory statistical unit should possess the following qualities:
A Appropriateness

B. Clarity

C. Measurability and Comparability

D. Flexibility

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A BandD only
4 A CandD only

Options :

22742775681. 1
22742775682. 2
22742775683. 3
22742775684. 4

Question Number : 96 Question Id : 22742719425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. ®ad A B3RD
4 HAdA C3HRD
Options :
22742775681. 1
22742775682. 2
22742775683. 3

22742775684. 4

Question Number : 97 Question Id : 22742719426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ethnomethodology is concerned with-

A. The study of ordinary people’s method for making sense of and creating order in everyday life

B. When people talk or act, they are constantly engaged in interpreting what is going on around them.
C. There is an inherent relationship between talk and action.

D. The study of social phenomena by using highly structured interviews of a very large sample size.
Choose the correct answer from the options given below:

1. A, Cand D only
2.A BandConly
3. B, Cand D only
4. A CandD only

Options :

22742775685. 1
22742775686. 2
22742775687. 3
22742775688. 4

Question Number : 97 Question Id : 22742719426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $9aA CIRD
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4 BATA C IR D

Options :

22742775685. 1
22742775686. 2
22742775687. 3

22742775688. 4

Question Number : 98 Question Id : 22742719427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Descriptive Research Design is used to-

A Portray accurately the characteristics of a particular individual, situation or group.

B. Determine the frequency with which it is associated with something occur or with which it is associated with something else.
C. Test & hypothesis of a causal relationship between variables.

D. In study that needed to minimize bias and maximize the reliability.

Choose the correct answer from the options given below:

1.A Band C only
2.A CandD only
3.8, Cand D only
4 A BandD only

Options :

22742775689. 1
22742775690. 2
22742775691. 3
22742775692. 4

Question Number : 98 Question Id : 22742719427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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2 $aqA CHRD
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Options :

22742775689. 1
22742775690. 2
22742775691. 3
22742775692. 4

Question Number : 99 Question Id : 22742719428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fundamental types of social process are:

A_ Acculturation

B. Assimilation

C. Accommodation

D. Competition

E. Differentiation

Choose the correct answer from the option given below:

1.B,Cand D only
2. A DandE only
3. B, Cand E only
4 C,EandAonly

Options :

22742775693. 1
22742775694. 2
22742775695. 3

22742775696. 4

Question Number : 99 Question Id : 22742719428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddB. C3RD
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4 HAAC E3ARA
Options :
22742775693. 1
22742775694, 2
22742775695. 3

22742775696. 4

Question Number : 100 Question Id : 22742719429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A community is an area of social living marked by some degree of social coherence. The basis of community are:
A Locality

B. Structure

C. Community Sentiment

D. Stability

Choose the correct answer from the option given below:

1.A,Band D only
2.Band D only
3.8, Cand D only
4 Aand C only

Options :

22742775697. 1
22742775698. 2
22742775699. 3

22742775700. 4

Question Number : 100 Question Id : 22742719429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



& TCH TG 1R &1 98 47 8 & Urfors Faved 31 59 T ffRa g8 39 e @1 R
A TS

B. W@l

C. §HcH HigdI

D. R

1. BadA BIRD
2. Haa B AR D

3. %aa B, C IR D
4 HITAIRC
Options :
22742775697. 1
22742775698. 2
22742775699. 3

22742775700. 4

Question Number : 101 Question Id : 22742719430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Social Justice is justice in terms of the distribution of:

A Wealth

B. Ownership of Resources

C. Opportunities

D. Privileges

Choose the correct answer from the option given below:

1. Band C only
2. A BandD only
3. A CandD only
4 Cand D only

Options :

22742775701. 1
22742775702. 2
22742775703. 3
22742775704. 4

Question Number : 101 Question Id : 22742719430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eI =g FgfaRad & € fogd R & d9y 5 = g
A T

B. GOl &I Wi

C. AW

D. IR

1 feu U fadedl | ¥ Tl IR &1 907 Bl

1. $ddB IR C

2 Had A B3RD
3. WadA C3RD
4 HAAC 3R D
Options :
22742775701. 1
22742775702. 2
22742775703. 3

22742775704. 4

Question Number : 102 Question Id : 22742719431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the different types of society?

A Agrarian Societies

B. Industrial Societies

C. Modern Societies

D. Hunting and Gathering Societies

Choose the correct answer from the option given below:

1. Band D only

2. A CandB only
3. A BandD only
4 B, CandD only

Options :

22742775705. 1
22742775706. 2
22742775707. 3
22742775708. 4

Question Number : 102 Question Id : 22742719431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A TYD AT
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1 feu U fadedl | ¥ Tl IR &1 997 B

1. $dd B IR D

2 Had A C3iRB
3. WadA B3RD
4 HAdB. C3ARD
Options :
22742775705. 1
22742775706. 2
22742775707. 3

22742775708. 4

Question Number : 103 Question Id : 22742719432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The normative response to disease, according to Talcott Parsons, is for an individual to assume the sick role. What are the
characteristic of sick role:

A lllness suspends routine responsibilities.

B. Aperson's lliness is not deliberate.

C. Asick person must want to get well soon

D. Asick person must take care of himseli/herself

E. Asick person must adhere doctor's advice.

Choose the correct answer from the option given below;

1.A B, D and E only
2.A B, C DandEonly
3.A, C, DandEonly
4 A B, CandEonly

Options :

227427757009. 1
22742775710. 2
22742775711.3

22742775712. 4

Question Number : 103 Question Id : 22742719432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1 $90A B, D IRE
) BaA B, C,D 3RE
3 9908, C. D HRE
4 BITA B, CIRE

Options :

22742775709. 1
22742775710. 2
22742775711.3
22742775712. 4

Question Number : 104 Question Id : 22742719433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Information, Communication Technological Revolution have contributed in the growth of post-industrial society through-
A. Shifting the production of tangible product to commodified ideas.

B. Shifting from mechanical skills to Digital Skills.

C. Minimization of supervision of educated and creative force.

D. Centralization by work from factories.

Choose the correct answer from the option given below:

1.A Cand D only
2.A BandConly
3.8, Cand D only
4 A B, Cand D only

Options :

22742775713. 1
22742775714. 2
22742775715. 3

22742775716. 4

Question Number : 104 Question Id : 22742719433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Frd e fadedl # 9 T SR @1 99 B

1.%qqA CIHRD
2 BAA B R C
3 %30 B,C AR D
4 $ITA B CHRD

Options :

22742775713.1
22742775714. 2
22742775715. 3
22742775716. 4

Question Number : 105 Question Id : 22742719434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What changes were brought by industrialization in society?
A. New forms of energy

B. Manufacturing and mass production.

C. Division of labour and specialisation.

D. Introduction of wage labour

E. Decentralization of work.

Choose the correct answer from the option given below:

1. A, B and C only
2.B,C, D and E only

3. A B, C,DandE only
4 A B, Cand D only

Options :

227427757171
22742775718. 2
22742775719. 3
22742775720. 4

Question Number : 105 Question Id : 22742719434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®adA B 3R C

2. ®ddB. C. D IRE
3. ®AdA B, C. D3RE
4 HAAA B C3IRD
Options :
22742775717. 1
22742775718. 2
22742775719. 3

22742775720. 4

Question Number : 106 Question Id : 22742719435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following statements are true about relative poverty?

A_Itis universal and unavoidable.

B. It refers to the deprivation of some people in relations to those who have more.
C. It depends upon a universally agreed minimum for adequate nutrition and living.
D. It depends on the values and standard of living that a particular society sets.
Choose the correct answer from the option given below:

1. A, B and C only
2.B, Cand D only
J. A BandDonly
4 A B, CandD only

Options :

227427757211
22742775722. 2
22742775723.3

22742775724. 4

Question Number : 106 Question Id : 22742719435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. BadA B 3R C
2 Had B, C 3R D
3 HadA BARD
4 Had A B, C 3R D

Options :

227427757211
22742775722. 2
22742775723.3
22742775724. 4

Question Number : 107 Question Id : 22742719436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are the critique of the ‘precautionary principle’-

A_ It concentrates only on one side of risk the possibility of harm

B. It warns us against interfering with natural processes as a matter of principle.

C. There is no hope of responding to climate change unless we are prepared to take bold decision.
D. Risk taking is essential to new thinking.

Choose the most appropriate answer from the options given below:

1.A BandConly
2.B,Cand D only
3. A CandD only
4 ABCandD

Options :

227427757251
22742775726. 2
22742775727. 3

22742775728. 4

Question Number : 107 Question Id : 22742719436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427757251
22742775726. 2
22742775727. 3

22742775728. 4

Question Number : 108 Question Id : 22742719437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Social factors fostering technological development are:
A. Social mobility

B. Policy of rewarding the inventors.

C. Social Conservatism.

D. Specialization.

Choose the correct answer from the option given below:

1. A, Band D only
2. Aand B only
3. B, Cand D only
4. B and C only

Options :

22742775729. 1
22742775730. 2
22742775731.3

22742775732. 4

Question Number : 108 Question Id : 22742719437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B IR D
2 Had A IR B

3. ®adB. C 3R D
4 HAdB AR C
Options :
22742775729. 1
22742775730. 2
22742775731. 3

22742775732. 4

Question Number : 109 Question Id : 22742719438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are true about technological revolution?

A._They create an objective needs for social and political innovation.

B. They crate a need for identifying the areas in which new institutions are needed and old one required to modify.
C. The new institutions have to be appropriate to specific new needs.

D. Socials responses to technological revolution vary from society to society.

Choose the most appropriate answer from the options given below:

1.A Band D only
2.B, Cand D only
3.A B, CandD only
4 A CandD only

Options :

227427757331
22742775734. 2
22742775735. 3

22742775736. 4

Question Number : 109 Question Id : 22742719438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427757331
22742775734. 2
22742775735. 3

22742775736. 4

Question Number : 110 Question Id : 22742719439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the followings are the stages of Information Technology Revolution?
A Microelectronics, Computers and Telecommunications Convergence.

B. The innovations in the field of Environment.

C. The creation of internet

D. Network technologies amd pervasive computing

E. Technologies of Life-Bio-technology (Genetic Engineering)

Choose the correct answer from the option given below:

1. A, B, CandD only
2.B,C, D andE only
3.A C,DandE only
4 A B, DandE only

Options :

22742775737. 1
22742775738. 2
22742775739. 3
22742775740. 4

Question Number : 110 Question Id : 22742719439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®adA B, C 3R D
2 ®ddB, C DIIRE
3 ®addA C DIIRE
4 HddA B, D3RE

Options :

22742775737. 1
22742775738. 2
22742775739. 3

22742775740. 4

Question Number : 111 Question Id : 22742719440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the followings are the elements of ethos of science propounded by Robert K. Merton?
A_ Universalism

B. Humanism

C. Communism

D. Disinterestedness

E. Organized Scepticism

Choose the correct answer from the option given below:

1.A B, CandD only
2.B,C, Dand E only
3. A B, Cand E only
4. A C,DandE only

Options :

22742775741. 1
22742775742. 2
22742775743.3
22742775744. 4

Question Number : 111 Question Id : 22742719440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®ddA B, C3RD
2. HddB. C. D IRE
3. @AdA B, C3HRE
4 HAAA C. D ARE
Options :
22742775741, 1
22742775742, 2
22742775743. 3

22742775744. 4

Question Number : 112 Question Id : 22742719441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following is true about ‘Collingridge dilemma’ — Which is related to regulation of technology?
A Regulating a technology in the initial stage of its adoption, when its potential dangers are not evident is easy.
B. Regulation becomes harder by the time the dangers of technology are idenfified.

C. If early Regulation is applied it may restrict further growth of technology.

D. Regulation at a more mature stage could be restrictive in its efficacy and its ability to prevent accident.
Choose the most appropriate answer from the options given below:

1.A Band Conly
2.A B, CandD only
3. Band C only

4 Aand D only

Options :

22742775745. 1
22742775746. 2
22742775747.3

22742775748. 4

Question Number : 112 Question Id : 22742719441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775745. 1
22742775746. 2
22742775747.3

22742775748. 4

Question Number : 113 Question Id : 22742719442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following acts are cybercrimes?

A lllegal Hacking

B. Ethical hacking

C. Unleasing of malware

D. Uploading illegal materials

E. Cyber stalking

Choose the most appropriate answer from the options given below:

1. A B, C,and D only
2. B, CandD only

3.A C,DandE only
4 B, C, D andE only

Options :

22742775749. 1
22742775750. 2
22742775751. 3
22742775752. 4

Question Number : 113 Question Id : 22742719442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®adA B, C 3R D
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3 ®ddA C DIIRE
4 ®dAB, C DIIRE

Options :

22742775749. 1
22742775750. 2
22742775751. 3

22742775752. 4

Question Number : 114 Question Id : 22742719443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following are the "World affirming’ new religious movement?
A. Church of Scientology

B. Transcendental Meditation

C. ISKON — International Society for Krishna Consciousness

D. The Aum Supreme Truth

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. Cand D only
4 Aand B only

Options :

22742775753. 1
22742775754. 2
22742775755. 3
22742775756. 4

Question Number : 114 Question Id : 22742719443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. $ddA B3R C
2 ®adB. C 3R D
3. Had C 3R D

4 HAdA AR B
Options :
22742775753. 1
22742775754, 2
22742775755. 3

22742775756. 4

Question Number : 115 Question Id : 22742719444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pantheism means:

A_The belief that there is no God.

B. The belief that there is one God.

C. The belief in several Gods

D. The belief that the universe is God

E. The lack of belief in one way or another

Choose the correct answer from the options given below:

1. Aonly
2. B only
3. D only
4. C and E only

Options :

22742775757. 1
22742775758. 2
22742775759. 3
22742775760. 4

Question Number : 115 Question Id : 22742719444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742775757. 1
22742775758. 2
227427757509. 3

22742775760. 4

Question Number : 116 Question Id : 22742719445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List | List II

A Sex and Repression in Savage Soclety |l Claude Lévi-Strauss

B. The Andaman |slanders Il. B. Malinowski
C. The Savage Mind lll. Alfred R. Radcliff Brown
D. Social Structure and Personality IV Talcott Parsons

Choose the correct answer from the options given below:

1. Alll, B-ll, C-1, DIV
2. Al B-1Il, C-, DIV
3. A, B-lI, Cll, DIV
4 Al B-lll, C-IV, D-lI
Options :
22742775761. 1
22742775762. 2
22742775763. 3

22742775764. 4

Question Number : 116 Question Id : 22742719445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. AdIl, B-Il, C-I, DIV
2 Al B-ll, C-I, DIV
3. Al B-Il, C-ll, DIV
4 A B-lll, C-IV, DIl



Options :

22742775761. 1
22742775762. 2
22742775763. 3

22742775764. 4

Question Number : 117 Question Id : 22742719446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | List 1l

A Mythologies |. B Malinowski
B. A Scientific Theory of Culture |lI. Claude Levi-Strauss
C. Taboo . Talcott Parsons

D. The Structure of Social Action|l\V. Alfred R. Radcliffe-Brown

Choose the correct answer from the options given below:

1. AV, B, C-ll, D-Ill
2. Al B-IV, C-ll, DI
3. Al B-1, C-IV, DAl
4 AV, B-lll, C-ll, DI
Options :
22742775765. 1
22742775766. 2
22742775767. 3

22742775768. 4

Question Number : 117 Question Id : 22742719446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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1. AV, B-l, C-lI, D-Ill
2. Al B-IvV, C-ll, DI
3. Al B-1, C-IV, DAl
4 A1V B-lll, C-Il, DI
Options :
22742775765. 1
22742775766. 2
22742775767.3

22742775768. 4

Question Number : 118 Question Id : 22742719447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List | List I1
A Historical-Comparative Method|l. Emile Durkheim

B. Comparative Method Il. Karl Marx
C. Dialectical Method 1. Max Weber
D. Neo-functionalism N J.C. Alexander

Choose the correct answer from the options given below:

1. A, B-ll, C-lI, DIV
2. Al B-l, C-II, D-IV
3. AV, B-lll, C-I, DI
4 Al B-IV, C-lll, D-I
Options :
22742775769. 1
22742775770. 2
22742775771.3

22742775772. 4

Question Number : 118 Question Id : 22742719447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | & T gl -1 e Sife
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A. tfteiis goies fafd). sama gem

B. g fafd Il STl AT

C. geIe® fafy Il 59 s

D. Ta-HRdE IV, 35 SciaeisT

T feu e fadedl § © Tt 3ok & 9a- &1

1. Al B-lI, CHIl, DV
2 Adll, Bl C-Il, D-IV
3. AV, B, C-I, D-II
4 Al B-IV. C-lIl. D-l



Options :

22742775769. 1
22742775770. 2
22742775771. 3

22742775772. 4

Question Number : 119 Question Id : 22742719448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List | List 11
A. Freedom and Civilization (1944) |. Levi-Strauss
B. Folk Culture of Yukatan (1941) Il. Robert Redfield

C. The Elementary Structure of Kinship (1949)|lll. A R. Redcliff-Brown

D A Natural Science of Society (1948) V. Bronislaw Malinowski

Choose the correct answer from the options given below:

1. A-l, B-ll, C-llI, D-IV
2. AV, B-lll, C-Il, DI
3. Al B-IL, C-, DIV
4 AV, B-l, C-II, DI
Options :
22742775773. 1
22742775774. 2
22742775775. 3

22742775776. 4

Question Number : 119 Question Id : 22742719448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

gt | & 9 gl -1 fieH aifer

T -
A Thisd UUE fhfaergse (1944) | Tal-E
B. Thi& Feat It Tl (1941) II. TEE ISHITS

C. & UiHeRl Tae M0 Th-1RY (1949)|I11. TN ISiHIE S13]
D. U R0 UIEY 1% GHTgel (1948) |1V, Si3%ia BieHasst
- feu e famedl § 4 U1 IR &l 98- B

1. A, B-ll, G-I, DIV
2. AV, B, C-lI, DA
3. AL, B-l, G-I, DIV
4 AV, B-l, C-lI, DA

Options :

22742775773. 1
22742775774. 2
22742775775. 3
22742775776. 4

Question Number : 120 Question Id : 22742719449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List | List II

A Imaging the Modern City (1999) | Mannel Castells
B. Post Modern Urbanism (19935) Il. Jane Jacobs
C. Urban Question; A Marxist approach (1977) lll. Nan Ellin

D. The Death and life of Great American Cities (1961)/IV. James Donald

Choose the correct answer from the options given below:

1. AV, B-lll, C-1, DIl
2. Al B-lIl, C-IV, D-I
3. Al B-IL -, DIV
4 A, B-IV, C-ll, D-lI
Options :
22742775777. 1
22742775778. 2
22742775779. 3

22742775780. 4

Question Number : 120 Question Id : 22742719449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | & T gl -1 e Sife
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1. A-IV, B-llI, C-I, D-II
2. Al B-II, C-1V, DA
3. AL, B-ll, G-I, DIV
4 A, B-IV, C-llI, D-lI



Options :

22742775777. 1
22742775778. 2
22742775779. 3

22742775780. 4

Question Number : 121 Question Id : 22742719450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List 11

List | List Il

A Ho |. Dhangarbassa
B. Bhotia |ll. Sing-bonga
C. Oraon |lll. Rangbang

0. BhuiyallV. Jonkerpa

Choose the correct answer from the options given below:

1. A-l, B-ll, C-llI, D-IV
2. Al B-II, C-, DIV
3. AV, B-lll, C-Il, D-I
4 Al B-ll, C-IV, D-I
Options :
22742775781. 1
22742775782. 2
22742775783. 3

22742775784. 4

Question Number : 121 Question Id : 22742719450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

gt | & 9 gl -1 fieH aifer
-l [ -l

AT |l yFTRER
B. Hifem|. fE-amm
C. 2RI |l {Ei

D. Y41 |IV. ST
Il feu Tt fdwedl 6 © U5l SR &1 90 @1

1. A, B-ll, C-ll, D-IV
2. Al B4l C-, DIV
3. AV, B-lIl, C-Il, DI
4 Al B-lll, C-IV, D-I
Options :
22742775781. 1
22742775782. 2
22742775783. 3

22742775784. 4

Question Number : 122 Question Id : 22742719451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List | List Il

|. It shows the pattern by which environmental hazards are greatest in proximity o poor people,

A. Cultural Ecology P
especially minorities.

B. Garbon Footprint
P II. It rafers to human demand hectare of land per person.

C.Environmental

_ IIl. Atheoretical paradigm that explores the relationship of human culture and the physical environment

VA personal measure of how much carbon dioxide you create and how much you contribute to climate

D. Ecological Footprint
3 3 change.

Choose the correct answer from the options given below:

1. Alll B-V.C DAl

2 AV, Bl C-, DI

3 A Bl CIV. DI

4 AV, Bl C-II, D
Options :
22742775785. 1
22742775786. 2
22742775787.3

22742775788. 4

Question Number : 122 Question Id : 22742719451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Adll B, C-I, D-I
2 AV.BAIl . D
3 Ad B, CV DAl
4 AV BAIL I DA

Options :
22742775785. 1
22742775786.

22742775787.

A W N

22742775788.

Question Number : 123 Question Id : 22742719452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List | List Il
A. The Post-modern condition; A Report on knowledge|l. Zygmunt Bauman

B. The Mirror of Production Il. Anthony Giddens
C. The Consequences of Modemity. Il. Jean Baudirillard
D. Modernity and the Holocaust IV. Jean-Francois Lyotard

Choose the correct answer from the options given below:

1. Ad, B-ll, C-IV, D-III
2 Adl B, C-Il, D-IV
3. AV, B, C-Il. DI
4 ANl B-IV, C-I, D-II



Options :

22742775789. 1
22742775790. 2
22742775791. 3

22742775792. 4

Question Number : 123 Question Id : 22742719452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el -1 & 9y Gt -1 e Fif

g - St -l
A. T UTE AIST SareM: g RO 31T Aol forme a8
B. g faw ofw disam . TuA Mg
C. T BI-aeas ATk ATSHel 1. =i STghanrs
D HISEl U5 & slaieRe IV. =1 hepisd waieTs

i few 7o fomenf & © 98 391 &1 999 &1

1. A, B-ll, C-IV, D-lI
2. Al B-l, C-lIl, DIV
3. AV, B-lll, C-ll, DI
4 Al B-IV, C-l, D-lI
Options:
22742775789. 1
22742775790. 2
22742775791.3

22742775792. 4

Question Number : 124 Question Id : 22742719453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il

List | List 1l

A_ The Network Society|l. Zygmunt Bauman
B. Liquid Modernity Il. Manuel Castells
C. Late Modernity I1l. Ulrich Beck

D. Reflexive Modernity |IV. Anthony Giddens

Choose the correct answer from the options given below:

1. AL, B-l, C-IV, D-Ill
2. A, B-ll, Cll, DIV
3. Al B-IV, C-Il, DI
4 AV, B-lll, C-I, D-lI
Options :
22742775793. 1
22742775794. 2
22742775795. 3

22742775796. 4

Question Number : 124 Question Id : 22742719453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. All, B-l, C-IV, Dl
2. A, B-ll, CHII, D-IV
3. AL, B-Iv, C-ll, DI
4 A1V, B-lll, C-I, D-lI
Options:
22742775793. 1
22742775794. 2
22742775795. 3

22742775796. 4

Question Number : 125 Question Id : 22742719454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List | List Il

A. Robin Fox |. Regional Difference in family structure in India.
B. Leela Dube Il. Kinship organization in India

C. Iravati Karve I1l. Sociology of Kinship

D. Pauline Kolenda|lV. Kinship and Marriage

Choose the correct answer from the options given below:

1. A, B-lI, C-lI, DIV
2. Al B-1, C-IV, DI
3. AV, B-lll, C-Il, DA
4 Al B-II, C-IV, DI
Options :
22742775797. 1
22742775798. 2
22742775799. 3

22742775800. 4

Question Number : 125 Question Id : 22742719454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Al B-lI, CHIl, DV
2 Al B-l, C-V, DIl
3. AV, B, C-Il. Dl
4 Al Bl C-IV. Dl



Options :

22742775797. 1
22742775798. 2
22742775799. 3

22742775800. 4

Question Number : 126 Question Id : 22742719455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

L.T. Hobhouse proposed a classification of societies in terms of “intellectual development.” Make a correct sequence of the
categories?

A Proto-science in the ancient East (Babylonia, Egypt and ancient China).
B. Formation of the elements of articulate thought in primitive sociefies.

C. The stage of critical and systematic thought in Greece

D. The stages of reflection in the later East (China, Palestine and India)

E. The stage of ‘experimental reconstruction’ (modern science)

Choose the correct answer from the options given below:

1.AB,CDE
2BADCE
3BACDE
4 CABDE

Options :

22742775801. 1
22742775802. 2
22742775803. 3

22742775804. 4

Question Number : 126 Question Id : 22742719455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

702 e o A 8 e & ve & v o e o fovan 3 ettt (o) 0 ) g & oo o
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D. et Ga (4, Feferi T HIR) H et (WIaeH) & X

E. T GRRET & R0 (314 &)

A fou 0 faded o 8 W) Ik &1 9 iy

1.ABCDE
2BADCE
3.B,ACDE
4 CABDE

Options :

22742775801. 1
22742775802. 2
22742775803. 3

22742775804. 4

Question Number : 127 Question Id : 22742719456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The sequence of Talcott Parson’s Scheme of social evolution is:
A_Modern

B. Advanced Primitive

C. Archaic

D. Primitive

E. Advanced Intermediate

Choose the correct answer from the options given below:

1.A,B,C,DE
2B,CDAE
3.D0,B,C EA
4 A/C B,DE

Options :

22742775805. 1
22742775806. 2
22742775807. 3
22742775808. 4

Question Number : 127 Question Id : 22742719456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.A,B,C,DE
2B,CDAE
3.D0,B,C EA
4 A/C B,DE

Options :

22742775805. 1
22742775806. 2
22742775807. 3

22742775808. 4

Question Number : 128 Question Id : 22742719457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Emile Durkheim outlined a classification of societies. Arrange these societies in a proper sequence-
A. Simple Society (the horde)

B. Simple polysegmentary societies

C. Simply compounded polysegmentary societies

D. Doubly compounded polysegmentary societies

Choose the correct answer from the options given below:

1.AC,BD
2ABCD
3 ADBC
4 B,ACD

Options :

227427758009. 1
22742775810. 2
22742775811. 3
22742775812. 4

Question Number : 128 Question Id : 22742719457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1A, CBD
2ABCD
3.AD B,C
4 B,ACD

Options :

227427758009. 1
22742775810. 2
22742775811. 3

22742775812. 4

Question Number : 129 Question Id : 22742719458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The correct sequence of steps of conducting a Research Study are
A_ Research Questions

B. Data Collection

C. Literative Review

D. Writing — up

E. Data Analysis

Choose the correct answer from the options given below:

1.A,C B ED
2 BAED,C
3 EACBD
4 CAB,E D

Options :

22742775813. 1
22742775814. 2
22742775815. 3
22742775816. 4

Question Number : 129 Question Id : 22742719458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.A,C B ED
2 BAED,C
3 EACBD
4 CAB,E D

Options :

22742775813. 1
22742775814. 2
22742775815. 3

22742775816. 4

Question Number : 130 Question Id : 22742719459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct chronological sequence of Emile Durkheim’s writings?
A The Rules of Sociological Method

B. The Division of Labour in Society.

C. The Elementary Forms of Religious Life.

D. Suicide: A study in Sociology.

Choose the correct answer from the options given below:

1.A,B,C,D
2B,ADC
3AC DB
4 DACB

Options :

22742775817. 1
22742775818. 2
22742775819. 3
22742775820. 4

Question Number : 130 Question Id : 22742719459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.A,B,C,D
2B,ADC
3AC DB
4 DACB

Options :

22742775817. 1
22742775818. 2
22742775819. 3

22742775820. 4

Question Number : 131 Question Id : 22742719460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct chronological sequence of the following books of Anthony Giddens?
A_The Consequences of Modermnity

B. Capitalism and Modern Social Theory

C. New Rules of Sociological Method

D. Runaway World: How globalisation is shaping our lives

Choose the correct answer from the options given below:

1.C, B, DA
2 A CBD
3.B,C,AD
4 A B CD

Options :

22742775821. 1
22742775822. 2
22742775823. 3
22742775824. 4

Question Number : 131 Question Id : 22742719460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e~ & g Taa] & U8l SIashAaR ®H-91 359 T8l &

AT PITH-Od ATH ATS [

B. ®higcfered WU AMSd 9i=d Wl

C. Y EE A fRciemd 9Ys

D. 33/d 9ts: 81 TAIGaISoiH 391 YT 3i1d% drgod

H2 fev o eyl § © U5 TR &1 90 S

1.C,B,D,A
2ACB,D
3.B,CAD
4 A B CD

Options :

22742775821. 1
22742775822. 2
22742775823. 3
22742775824. 4

Question Number : 132 Question Id : 22742719461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the steps in planning and implementations of a Rural Development Project. Arrange in correct sequence?
A Selection of Beneficiaries

B. Base-line Survey

C. Monitoring and Evaluate

D. Selection of Schemes

E. Execution of the Programme

Choose the correct answer from the options given below:

1.C,ABDE
2ABCDE
3.B,ADEC
4 B,D,ECA

Options :

22742775825. 1
22742775826. 2
22742775827. 3

22742775828. 4

Question Number : 132 Question Id : 22742719461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.C,A,B,D,E
2ABCDE
3.B,A,D,EC
4 B,D,E,CA

Options :

22742775825. 1
22742775826. 2
22742775827. 3

22742775828. 4

Question Number : 133 Question Id : 22742719462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the chronological sequence of the following writings of C. Levi-Strauss?
A Structural Anthropology

B. The Savage Mind

C. The Elementary Structure of kinship

D. Introduction to a Science of Mythology

Choose the correct answer from the options given below:

1.A,B,C,D
2CABD
3.B,CAD
4 DA CB

Options :

22742775829. 1
22742775830. 2
22742775831. 3

22742775832. 4

Question Number : 133 Question Id : 22742719462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.A,B,C,D
2CABD
3.B,CAD
4 DA CB

Options :

22742775829. 1
22742775830. 2
22742775831. 3

22742775832. 4

Question Number : 134 Question Id : 22742719463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



PP Rey describes three stages through which transition from feudal to the capitalist mode of production takes place. What is
the sequence of following three stages?

A Capitalism becomes dominant; it still makes use of feudalism; capitalism destroys all peasant handicrafts and forms of
production.

B. Capitalism is subordinated to feudalism and depends on landed property to get both raw materials and workers.
C. Feudalism become an obstacle o the development of capitalism and so it is dismantled.
Choose the correct answer from the options given below:

1.ABC
2BAC
3ACB
4.C,BA

Options :

22742775833. 1
22742775834. 2
22742775835. 3

22742775836. 4

Question Number : 134 Question Id : 22742719463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.ABC
2BAC
3ACB
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Options :

22742775833. 1
22742775834. 2
22742775835. 3

22742775836. 4

Question Number : 135 Question Id : 22742719464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

L.H Morgan listed five different and successive forms of family. Arrange them in the order of evalution
A. The Punaluan family

B. The Consanguine family

C. The Patriarehal Family

C. The Syndyasmian family

D. The Monogamous family

Choose the correct answer from the options given below:

1.AB,C,D,E
2.B,ADCE
3BACED

4 EDC,BA
Options :
22742775837. 1
22742775838. 2
22742775839. 3

22742775840. 4

Question Number : 135 Question Id : 22742719464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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1.A,B.C,DE
2 BADCE
3 BACED
4EDCBA

Options :

22742775837. 1
22742775838. 2
22742775839. 3

22742775840. 4

Question Number : 136 Question Id : 22742719465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements:

Statement |: Sample size determination indicate the number of people in the sample and the procedures used to compute this
number.

Statement II: A large sample will provide less accuracy in the inferences made.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4 Statement | is false but Statement Il is true

Options :

22742775841. 1
22742775842. 2
22742775843.3
22742775844. 4

Question Number : 136 Question Id : 22742719465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775841. 1

22742775842. 2



22742775843. 3
22742775844. 4

Question Number : 137 Question Id : 22742719466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: ‘Dependent variable are the outcomes or resulis of the influence of the Independent Vanables.
Reason R: ‘Because Independent vanable are variables that are manipulated in the experiment’

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Aand R are correct and R is the correct explanation of A

2. Both Aand R are correct but R is NOT the correct explanation of A.
3. Ais correct but R is not correct

4. Ais not correct but R is correct

Options:

22742775845. 1
22742775846. 2
22742775847.3

22742775848. 4

Question Number : 137 Question Id : 22742719466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775845, 1
22742775846. 2
22742775847.3
22742775848. 4

Question Number : 138 Question Id : 22742719467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I: Social Positions, which one is born into or one acquires without one’s own effort is, known as Ascribed Status.
Statement II: Achieved status is based on and defined by what people do or acquire through their own effort.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4 Statement | is false but Statement [l is true

Options:
22742775849. 1
22742775850. 2

22742775851. 3



22742775852. 4

Question Number : 138 Question Id : 22742719467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742775849. 1
22742775850. 2
22742775851. 3

22742775852. 4

Question Number : 139 Question Id : 22742719468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Asserfion A: The average temperature have risen 0.8°C around the world since 1680. It has caused massive climate changes
reflected in forms of heatwaves, ocean warming, rise in sea level and glacier melting.

Reason R: From the time of the Industrial Revolution the amount of carbon dioxide that humanity has produced has risen
tenfold.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Aand R are correct and R is the correct explanation of A.

2. Both Aand R are correct but R is NOT the correct explanation of A.
3. Ais comect but R is not incorrect

4 Ais not corect but R is correct

Options :

22742775853. 1
22742775854. 2
22742775855. 3
22742775856. 4

Question Number : 139 Question Id : 22742719468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742775853. 1



22742775854. 2
22742775855. 3

22742775856. 4

Question Number : 140 Question Id : 22742719469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement | The informational economy is global

Statement I1: A global economy is historically a new reality, distinct from a world economy.

In the light of the above statements, choose the correct answer from the options given below

- Both Statement | and Statement Il are true
- Both Statement | and Statement Il are false
_ Statement | is true but Statement |l is false
~ Statement | is false but Statement [1 is true

L I O

S

Options:

22742775857. 1
22742775858. 2
22742775859. 3
22742775860. 4

Question Number : 140 Question Id : 22742719469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775857. 1

22742775858. 2

227427758509. 3

22742775860. 4

Sub-Section Number : 2
Sub-Section Id : 227427761
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742719470 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following Passage and answer the questions

Asociological study was focussed on two villages-one a large settlement of some 5142 people and the other, a small village of
only 759 people. Despite their difference in size, both villages exihibit a roughly similar caste and religious structure. Each
setflement contains both Hindu and Muslim families which are internally divided into caste or caste-like groupings; and each
possesses a dominant caste that tends to control a substantial part of the economic and political resources of the village. The
village population is divided into three socio-ecenomic groupings; (1) Agroup of agriculturists who are of high status and high
income that make up the dominant caste, together with certain individuals from other caste who have achieved a better
economic status than ther fellows; (2) Amiddle group of less wealthy agriculturists, artisans, and members of the occupational
castes; and (3) A group of individual of low status and income made up of lowest order caste and poor agricultural labourers. In
both villages there is a small but powerful segment that constitutes elite. This comprises people mostly of high social status and
income who are better educated, have urban contacts and play an active part in village and inter-village polifics.

Sub questions

Question Number : 141 Question Id : 22742719471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In what ways two villages are similar to each other?

A_In caste and religious structure

B. Both religious groups divided in caste/caste like structures.
C. Both the villages had almost same settlement pattern

D. Both the villages had a dominant caste.

Choose the correct answer from the options given below:

1. A, BandD only
2. A BandC only
3. B, CandD only
4 A CandD only

Options :

22742775861. 1
22742775862. 2
22742775863. 3



22742775864. 4

Question Number : 142 Question Id : 22742719472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Peasant class in the village has following characteristics
A High Status

B. Make up a "Dominant Caste”

C. High Income

D Landlessness

Choose the correct answer from the options given below:

1. A Band C only
2. A BandD only
3. B, CandD only
4 A CandD only

Options :

22742775865. 1
22742775866. 2
22742775867. 3

22742775868. 4

Question Number : 143 Question Id : 22742719473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The structure of middle class in the study villages comprised of-
A Less wealthy agriculturalists

B. Artisans

C. Occupationnel Castes

D. Lowest order caste

Choose the correct answer from the options given below:

1. A, B and D only
2. A BandC only
3. B, Cand D only
4 A CandD only

Options :

22742775869. 1
22742775870. 2
22742775871.3

22742775872. 4

Question Number : 144 Question Id : 22742719474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The lower class in the village was comprised of-
A_Lowest order caste

B. Agricultural labourers

C. Rich Farmers

D. Marginal Farmers

Choose the correct answer from the options given below:

1. A B, Conly
2.A C Donly
3. A BandD only
4 B, CandD only



Options :

22742775873. 1
22742775874. 2
22742775875. 3

22742775876. 4

Question Number : 145 Question Id : 22742719475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Power Structure of the study villages comprised of those having-
A_ Better education and high social status

B. Urban Contact

C. Neutral Attitude

D Active participation in village politics

Choose the correct answer from the options given below:

1. A CandD only
2. A BandD only
3. B, CandD only
4 A B andC only

Options :

22742775877. 1
22742775878. 2
22742775879. 3
22742775880. 4

Question Id : 22742719470 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)



Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742719471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. ®dd A B 3R D
2 Hdd A B3R C
3. ®dd B, C AR D
4 ®Hadd A, C AR D

Options :
22742775861. 1
22742775862. 2

22742775863. 3



22742775864. 4

Question Number : 142 Question Id : 22742719472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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1. BddA B3R C
2 Wad A B3R D
3. Wad B C 3R D
4 HmadA C 3R D
Options :
22742775865. 1
22742775866. 2
22742775867. 3

22742775868. 4

Question Number : 143 Question Id : 22742719473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775869. 1
22742775870. 2
22742775871.3

22742775872. 4

Question Number : 144 Question Id : 22742719474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775873. 1
22742775874. 2
22742775875. 3

22742775876. 4

Question Number : 145 Question Id : 22742719475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HOT-Nd B Iidd ST 5 4 a8

A for o Uiy ggar f2ren ok o= 9Afoe fufa Suas 8

[

B. foFa "R & dudh &

C. form FRuy oodgR &

D. Sif ¥1id @1 rei-id # gichg YiHaT fAHid 8

oL

Hid f&u U Geedl & © 981 IR &1 99 DIt
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2 Wad A B3R D
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Options :
227427758771
22742775878. 2
22742775879. 3

22742775880. 4

Sub-Section Number : 3
Sub-Section Id : 227427762
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 22742719476 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following Passage and answer the questions

The term environment implies all the external factors living and non-living, material & non-material - which surround man.
However, the newer concept also includes the social and economic conditions under which we live. For better understanding
environment can be divided into three components, viz Physical (water air, soil. housing etc.) Biological (Plants & animal life
including viruses, insects, rodents and social (customs, cultures, income, occupation etc.)

The key to man's health lies largely in his environment. In fact much of man’s ill-health can be traced to achieves environmental
factors like, poor-housing, presence of animals, air water & soil pollution etc. Often man is responsible for the pollution of his
environment through urbanization, industrialization and other human activities his which is bringing profound social and
environment changes all over the world. Hence, to address this problem a combined multi-disciplinary programme of action is
needed to achieve a healthy environment.

Hence, two of the changes needed to achieve “Health for all” are concerned with a healthy environment and healthy life style
and require initiatives by the individual, the family and the community.

Sub questions

Question Number : 146 Question Id : 22742719477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The newer concept of environment, apart from external factors, also includes:
A_ Economic conditions

B. Non-living factors

C. Social factors

D. Bacteria & Viruses

Choose the most appropriate answer from the options given below:

1. B, Cand D only
2. B and D only
3. Aand C only
4 A CandD only

Options :

22742775881. 1
22742775882. 2
22742775883. 3

22742775884. 4

Question Number : 147 Question Id : 22742719478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What are the basic requirements to ensure "Health for all™?
A. Healthy behaviour patterns

B. Healthy Environment

C. Friendly Government

D. Healthy Life Style

Choose the correct answer from the options given below:

1. Band D only
2. Aand B only
3. B, Cand D only
4 A BandD only



Options :

22742775885. 1
22742775886. 2
22742775887. 3

22742775888. 4

Question Number : 148 Question Id : 22742719479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Man is responsible for the pollution of his environment through various activities like:
A_ Urbanization

B. Water Conservation

C. Industrialization

D. Migration

E. Waste Disposal

Choose the correct answer from the options given below:

1.B, Cand D only
2. A BandE only
3. C,DandE only
4 A CandD only

Options :

22742775889. 1
22742775890. 2
22742775891. 3
22742775892. 4

Question Number : 149 Question Id : 22742719480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The adverse environmental factors which can affect human health are:
A_ Poor housing conditions

B. Water Contamination

C. Waste Segregation

D. Presence of animal reservoirs

Choose the correct answer from the options given below:

1. Aand D only
2. B, CandD only
3 A BandD only
4 C and D only

Options :

22742775893. 1
22742775894, 2
22742775895. 3
22742775896. 4

Question Number : 150 Question Id : 22742719481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which cannot be considered as social component of environment?

1. Income

2. Wastes

3. Religion

4 Customs
Options :
22742775897. 1
22742775898. 2
22742775899. 3

22742775900. 4



Question Id : 22742719476 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742719477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775881. 1
22742775882. 2
22742775883. 3

22742775884. 4

Question Number : 147 Question Id : 22742719478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tl & e T &1 gREd TF 5d PH-U1 §FRIE Sagadre &
A W& agR (Ufaey Ue)

B. W& Wi

C. 3IPd IR

D. W Siga it

i feT T fadedl H ¥ Ug1 SR &1 98 DIty

1. HadB 3R D
2 Had AR B
3. ®ddB, C3ARD
4 HIAA B3ARD




Options :

22742775885. 1
22742775886. 2
22742775887. 3

22742775888. 4

Question Number : 148 Question Id : 22742719479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arq fafay aFdE miafafiat & arem o097 gaiau & UguT & a8 98 &
A TS
B. STCTERET

C. SfrefiEeu

- e i T o]

| T T8l 3R &1 9 DIuie

Options :

22742775889. 1
22742775890. 2
22742775891. 3
22742775892. 4

Question Number : 149 Question Id : 22742719480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

d yfdpd Faiauiid R o AHd &l guifdd s Gbd 8, d &
A ETd T[g (HTaTE-) g2md

B. ST Gguul

C. SAUFRY gYFH I

D. U2@S (W) ®f Jufefd

T fGu U famedl © ¥ 981 SR &1 99 Py

1. PITA AR D

2 wad B C 3R D
3. Wad A B3R D
4 Had C IR D
Options :
22742775893. 1
22742775894, 2
22742775895. 3

22742775896. 4

Question Number : 150 Question Id : 22742719481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fd ygiaeur & gMEIfe® ged & ¥4 H Jgl AFT & Iddl &

1. 319

2 AUy

3 ¥H

4. gugifafars
Options :

22742775897. 1
22742775898. 2
22742775899. 3



22742775900. 4



